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TrainingOnly) , 0 00O OO OO OO 1, curve graph. 2, bar char
. 3,pie chart . 4, table. 5,sequence of events . 6, a picture of an object
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[0 O 0O O 1, The table/chart shows diagram describegraph



Ilustratefigures demonstratestatistics depict reveal2, [ (1 [0 [ [
According to the table/chatAs(is)shown in the diagramAs can be
seen from the graphlt can be seen from the figureswWe can see from
the table/chartlt is clear/apparent from the diagram3, The number of
(cars) increased suddenly from (June)to(December)jumped rapidly
rise/rose dramatically between(June)and(December)ascend
significantlydecreased sharplyOdropped steeplyfall/fell
steadilydescend slowlyfluctuated graduallyrebound slightly4, There
was a (very) sudden increase rapid jumpdramatic risesignificant
ascentsharp decrease in the number of (cars) from[] tosteep
Odropsteady fallgradual descentslow fluctuationslight rebound] [
0 0O 00O 0O 1, mored than2, asl] as3, times the height/length/width
of] .4, amount to/reach/arrive at5, account fortJ O O 0O 0O O O O (
Do0odoboOdO)Paral, 00000 OOOThisisa
______chart, which demonstrates the numberof ~~ from _ to
.00 0o00o0dUodTherearetwocharts below. The
chart describesthe numberof ~ jandthe  chart illustrates
thefigureof . O000OO0O0OOOOOOOOOFrom the chart
we can see that the number of varies constantly/greatly in
Para 2, As we can see from the chart,/or It is clear from the
chartthat .00 00OOO0OOOThe  chartshows that
Jor As we can see from the first chart, Para 3, (1 [
00O 00O0O0)Itis clear from the second chart that [ Para4 [ [
[1 From the figures/statistics above, we can see/conclude/draw a
conclusion that 1 -------------- (1 00 0O 0 100testl] 00 [ . 100Test
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